NC Math 3 Honors - Unit 8A: Quadratics and Factoring Homework
3.1 Exponents and Operations with Polynomials

Simplify.
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Perform the indicated operation. Be sure to write your polynomial in standard form.
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3.2 Factoring Using GCF, Grouping, and Difference of Squares

Factor the GCF (greatest common factor) from each polynomial.
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Factor each polynomial by grouping.
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Factor each difference of squares.
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3.3 Factoring Sum and Difference of Cubes, Trinomials

Factor each sum or difference of cubes.
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Factor each trinomial.

g%lﬁzﬁﬂfﬁ@
i

e +8c +3c+ Y
)] 2c(3etd)+1(3erd)
(3c+4)(Zer V)

3. 270 —8y3 = x°- 23¥3
((3x-2y) (a? +Gxy +4y2))

4. —x3-343

103+ 343) = -| (x3-33)
-0+ x +49)]

7._2m?

,(Zm-?xr_n +4




10, x* —3x —
[(x=8)(%+5)\

3.4 Factoring Polynomials

Completely factor each polynomial.
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3.5 Solving Quadratics by Factoring and Graphing

For 1 -2, solve by graphing.
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For 3 - 4, a quadratic function and its graph are shown. Identify the solutions, or roots, of the related
quadratic equation.
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Solve by square roots or factoring.
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3.6 Quadratic Formula, Radicals and Complex Numbers

Simplify each radical.
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Solve each quadratic equation using the quadratic formula. Be sure to simplify your answer.
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